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DEFENCE AND STRATEGIC STUDIES
Paper - 11

questions are compulsory.
Who opined that “if you wish for
peace, understand war” ?
(A) Jomini
iB) 1EC. Fuller
{C) Mao Tse Tung
iD} B.H. Liddell Hart

Who is among the following known as
‘Father of India"s Missile Programme” ?
iA) APFP.J Abdul Kalam

(B) Raja Ramanna

(C) Anil Kakodkar

(D} Vikram Sarabhai

Which one of the following is not taken
as the instrument of National Security 7

(A) Armed Forces
iB) Diplomatic services
(C) Intelligence services

i} NGOs

Who argued that “the central theme of
international relations is not evil, but
tragedy” 7

(A) Robert Jervis

(B) K. Subrahmanyam

(C) B.Buzan

(D} Amold Wolfers

*Security Dilemma’ of States continues,
due to the following reasons :

(A} Military power always appears
offensive to others.

(B) Military power becomes
defensive.

(C) States do not take steps to use
force.

(D)  States want economic freedom.

10.

We are providing piece of information just for refersance.

Note : This paper contains fifty (50) objective type questions of two (2} marks each. All

Who argued that “Geo-politics is a
pseudo-science™ 7

{A) B. Buzan

(B} H. Morgenthau

(C} H. Mackinder

(D Raymon Aron

Who among the following propounded
the Organic Theory of State 7

{A) Halford Mackinder
(B)y Carl Haushofer
(C) Ratzel

(I S.B. Cohen

During the cold war years. key 1o
world peace was insured by

{A) Homeland Security Mechanism

{B} Balance of Power and Collective
Security Mechanisms

(C) Regional Security

(D Comprehensive Security

Who propounded the concept of
*Geographical Pivot of History™ 7

(A)  Alexander de Seversky

(B) Carl von Clausewitz

(C) Halford Mackinder

(D) Alfred T. Mahan

Rise of fundamentalism in Afghanistan
is largely due to

{A) Poverty

{B} Religious extremism of Islam
(C)  Iliteracy

(D Pastoral economy
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Where is Diego Garcia island situated ?
(A) Pacific Ocean

(B) Indian Ocean

(C)  Atlantic Ocean

(D} Baltic Sea

Which one of the following is not

implied in the assumptions of

Deterrence Theory 7

iA} Decision-makers are rational.

(B) The treat of destruchon from
warfare is large.

(C)  Alternatives to war are available.

iD} Open economy can defuse the
threat of war.

Which one of the following is not an
arms control agreement 7

(A) NATO
(B) SALT
(C) NPT
(D) PBAT

Which one of the following is not an
element of Natiomal Power of a
modern nation-state 7

(A} Cotical Mass

(B} National Will

(C) Economic Capability
(D) Social Movement

After Tsunami-induced problems in
Japan's Fukushima Nuclear Plant,

which one of the following countries
has not stopped the expansion of
nuclear power for peaceful purposes 7

(A) India

(B) USA

(C) Germany
iD}  Japan

16.

17.

19,

We are providing piece of information just for refersance.

Which of the following is not the
consequence of the Indo-US Civilian
Nuclear Deal ?

{A) US support for  India's
emergence as a potential super
power.

(B} Separation of India’s civil and
defence nuclear facilities.

(C} International  inspection of
nuclear facilities.

(D Nuclear  Supplier  Group's
unhindered support for India.

The military operation launched by
independent India o liberate
Hyderabad from Nizam's mle in
September 1948 was named as

{A) Operation Polo

(B} Operation Green Hunt
{C} Operation Vijay

(D Operation Blue Star

*Armmed Forces Special Powers Act’ was
enacted by India in the following year :

{A) 1965 (B) 1958
(C) 1971 (D) 1999
The terms ‘Golden Crescemt” and

“Golden Triangle” are related to
{A) Fake currency business
(B} Proliferation of small arms
{C} Narco trafficking

(D All of the above activites of
organised crime

‘Operation Jeronimo' is related to :

{A) Killing of Osama Bin Laden in
Pakistan

(B) Killing of Col. M. Gaddafi

{C} Killing of Benazir Bhutto

(I Killing of Egyptian President
Anwar Sadat

It may wvary from Official
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‘Missile for Nuke' programme is
referred to

(A) Transfer of missile technology
by Morth Korea in the exchange
of muclear technology by

Pakistan.

Missile technology transfer by
China to Pakistan.

(B)

i)

Reduction in  inter-continental
Ballistic Missiles by USA and
USSE.

() Muclear Threat Reduction (NTR ).

Which one of the following is located
in South China Sea 7

(A} Spartley Island
(B) Vanuatu Island
(C) Coco Island

(D) Vitilevu Island

Swat Valley is situated in the area of :
(A) India — Myanmar border

(B) Pakistan — Iran border

(C) Pakistan — Afghanistan border
(D)}  India — Nepal border

‘Jasmine Revolution’ is related to :
iA)
iB)
iCh

Green revolution

Floriculture

Democratic awakening in the
Islamic world

(D}  Environmental movement

25,

26,

1.

We are providing piece of information just for refersance.

Which one of the following is not a
member country of SAARC?

{A) Pakistan iB) Myanmar
{(C) Bhutan D)y Maldives

Match the following on the basis of
List — I and List — IL Use the codes given
below :

List -1 List— 11
{Country) (Year of first
nuclear test)
(a) India (i) 1952
by USA fii) 1949
(c) Soviet Union (iii) 1945
(dy UK {iv) 1974
Codes :

@ (b) (c) (d)
(A) (iv) (i) (i) (i)
(B} (i) (iv) (iig) (i)
(C) (iii) (iv) (i) (@)
(D) (i) (i) (id) (iv)

Match the military thinkers with their
respective domain of doctrines on the
basis of following List — T and List - 11 :

List - I List —1I
ia) Carl Haushofer (i) Sea power
by AT. Mahan (i) Air power
ic) Douhet ini) Geopolitics
(d) Mao Tse Tung (iv) Guerilla

Warfare
Codes :

@ M f(c) (d
(A) Gy (1) (@) (iv)

(B} (i) (v) (i@} (id)
(C) divh (my Ay (i)
(D) (i) (i) (iv) (1)

J-1-12
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We are providing piece of information just for refersance.
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www.recruitment.guru

signatory  nations  and
concluded accords by choosing comrect
code :

List -1
{a) India-Pakistan (i)

List —II
Indo-Soviet
Treaty of
Peace.
Friendship
and
Cooperation
(i1) Camp David

Accord
(i) SALT-1&

SALT-N
{iv) Shimla

Agreement

(b) US-USSR
(¢) India-USSR

{d) Egypt-Israel

Codes :

(a) (b dc) (d)
(A) (v} (@ii) (i) (id)
(BY () (i) (iii) (iv)
(Cy (i) (miy (v) (1)
(Dy (i) () iy (1)

Match the following from List — 1 and
List — I1 by choosing comrect code :

List -1 List - 11
{a) BarlevLine (i) India-Pakistan
{b) Maginot Line (ii) India-China

ic)y LAC (iii) France
(dy LOC (iv) Israel
Codes :

(@ (b (c) (d)
(A) (@) (i) (i) (iv)
(B) i) (i) (iv) (1)
(C) vy (i) d(ii) (1)
(D) @iy (av) (1) (i)

3.

Ji.

of information §just for refersance.

Match the following from List — I and
List - II by choosing comect code :

List -1 List — 11
i Tactics) iWars / Users)
(a) “Steam Roller’ (1) Arab-Israel
tactics War 1967/
Israel
iby ‘Shockand (i) Gulf Warll /
Awe’ tactics UsA
ic) ‘Blitzkrieg” (i) World War
tactics 1T f Germany
(dy “Web Defence’(iv) World War I1
tactics { Soviet
Union
Codes :

fa) (b) ic) (d)
(A) (i) (i) (i) f(iv)
(B) (i) (i) (iv) (i)
(C) (m) (v) () (1)
(D (i) (i) (iv) (idi)

Choose the comect code of Assertion
and Reason ;

Assertion (A} : The concept that ‘one
man’s terrorist as  another’s
freedom fighter’ must be made
unacceptable’.

Reason (R)
to  significant
outside.

Codes :

{A) Both{A)and (R) are correct.

{B) (A)is correct, (R) is not correct.

{C) Both{A)and (R) are not correct.

(¥ (A)is not correct, (R) is corract.

: Terrorists survive due
support  from

J-1-12
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the appropriate code of

Assertion and Reason.

Assertion (A) : Terrorism is not a
purposeless violence. It is not
like nature act of earthquake or
tsunami before which we are
helpless.

Reason (R) : Terronsts and those
who support them have specific
goals: terrorist violence is the
means ko attain those goals.

Codes :

(A} Both(A) and (R) are not correct.

iB) Both(A)and (R) are correct.

(C) (A)is correct. (R} is the logical

explanation of {A).

{A) is not correct, (R) is not the

logical explanation of (A).

i

Choose the appropriate code of

Asserntion and Reason.

Assertion (A) : Today Mational
Security means the ability of a
nation to protect its internal
values from external threats, no
matter what form the latter may
take or what quarter they appear

from.

Reason (R) : The danger lies in the
“hidden hand”™ and not the
“foreign hand™.

Codes :

(A) Both (A) and (R} are correct, but
(R) 15 not the logical conclusion
of (A).

(B) (A)is commect, (R) is not correct.
(C) (A) is comect, (R) is the logical
explanation of (A).

Both (A) and (R) are correct and
(R} is the logical conclusion of
(A

i

L

35.

We are providing piece of information just for refersance.

Choose the appropriate code of

Assertion and Reason.

Assertion (A) : The United Nations
will continue to expand its duties

and powers.

Reasom (R) : UN intervention
cannot be justified when a
government falls into  anarchy
and civi] war,

Codes :

{A) Statement (A) is correct. (R) is
not correct,

(B} Reason (R) is correct, (A) is not
correck.

(C) Statement (A) and (R) both are
incorrect.

(D) Statement (A) and (R) both are
correct.

Choose the appropriate code of

Assertion and Reason,

Assertion (A) : Population pressures
and increased per capila
consumption of resources have
made water a natural resource
issue of 21* century.

Reason (R)  : Today fresh water on
the planet earth is only three
percent.

Codes :

(A) Statement (A) and (R) both are
Incorrect.

(B} (A)is not correct, (R) is corract.
{C) (A) and (R) both are correct, but
(R) is not the cause of (A).

(DY (A)is corect, but (R) 1s not corredt.

Identify the correct sequence of the
following thinkers as per their period
in history in chronological order:

(A) AT. Mahan — Mao Tse Tung -
Kautilya — Henry Kissinger

(B} Mao Tse Tung — Kautilya — A.T.
Mahan — Henry Kissinger

(C) Kautilya — Mao Tse Tung - A.T.
Mahan — Henry Kissinger

(D Kautilya - AT. Mahan - Mao

Tse Tung - Henry Kissinger
J-1-12
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Identify the correct sequence of the

following India's Defence Ministers in

terms of their tenures in chronological
order :

(A} Jagjivan Ram, George
Femandes. V.K. Krishna Menon.
Sardar Baldev Singh

(B) Sardar Baldev Singh, Jagjivan
Ram, V.K. Krshna Menon,
George Fernandes

(C} Sardar Baldev Singh, V.K
Krishna Menon, Jagjivan Ram,

George Fernandes
(D} VK. Krshna Menon, Sardar
Baldev Singh, George

Femandes. Jagjivan Ram

Identify the following evenits in a

chronological order

iA} Tashkent Agreement -
Panchsheel Agreement — Shimla
Agreement (Indo-Pak) — Lahore
Declaration

(B) Shimla Agreement (Indo-Pak) -
Lahore Declaration — Panchsheel

Agreement - Tashkent
Agreement
{C) Panchsheel Agreement -

Tashkent Agreement — Shimla
Agreement (Indo-Pak) — Lahore

Declaration

(D} Lahore Declaration — Shimla
Agreement {Indo-FPak) -
Tashkent Agreement -

Panchsheel Agreement

Which one of the following is in
comect chronological order in terms of
their inception :

(A} ASEAN - UN-NAM - SAARC
By UN-NAM - ASEAN - SAARC
(C) SAARC-NAM - UN - ASEAN
(D) MNAM -SAARC - UN - ASEAN

40,

41

42,

We are providing piece of information just for refersance.

Identify the following wars in the order
they were fought :

(A) Gulf War II — Viemam War -
Boer War — Russo-Japan War

(B} Boer War — Russo-Japan War —
Viemam War — Gulf War I

(C) Vietnam War — Boer War — Gulf
War II — Russo-Japan War

(D Russo-Japan War — Boer War -

Gulf War II - Vietnam War

Identify the comrect chronological order
of the following military thinkers :

(A) Sum Tm - Machiavelli -
Clausewitz — Douhet

{B) Machiavelll — Sun Tzu — Douhet
— Clausewitz

(C) Douhet — Sun Tzu — Clausewitz
— Machiavelli

(M Clausewitz - Sun Tzu -
Machiavelli — Douhet

Arrange the following  terrorism-

related events in correct chronological
order :

(A) 2611, 911, GWOT. Operation
Jeronimo

(B)y GWOT. Operation Jeronimo,
911, 26/11

(Cy 911, GWOT, 26/11. Operation
Jeronimo

(D) Operation Jeronimo. GWOT,
2611, 911

Arrange the following Arms Control
Agreements in correct chronological
order :

{A) NPT - Treaty of Tlateloleo -
CTBT - Treaty of Rerotonga

(B} Treaty of Tlateloleo — NPT -
Treaty of Rerotonga - CTET

(C} Treaty of Tlateloleo — Treaty of
Rerotonga - CTBT - NPT

(D CTBT - Treaty of Rerotonga —

NPT - Treaty of Tlatelolco

J-1-12
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the appropriate code of

Assertion and Reason.

Assertion (A) : Security  essentially
implies the absence of real
potential or perceived threats and
challenges whether stemming
from external or internal sources.

Reason (R) : The threat perceptions
are largely diverse to preclude a
common approach.

Codes :

(A)

(B} (A)is not correct, (R) is correct.

{Cy (A} and (R) both are not correct.

(D} (A) is correct and (R) is the
logical explanation of (A).

{A) is comrect, (R) is not correct.

Choose the right code of Assertion and

Reason.

Assertion (A) : Pakistan has been
advocating the necessity of
strategic depth in Afghanistan to
hide its territorial ambitions and
its aim of expanding its strategic
frontiers towards Western and
Central Asian regions.

Reason (R)  : Secure Western
borders and a subserviemt
Afghanistan will enable Pakistan
to deploy most of its armed
forces against India.

Codes :

(A} Both (A} and (R) are nol correct.

(B} Both (A) and (R) are correct, but
{R) is the logical extension of
(A).

(C) (A)is comect, (R) is not correct.

(D} (A) is not correct. (R) is correct

logical conclusion of (A).
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Which group of the following countries
comprise the “Golden Triangle’ ?

(A) Bangladesh — Bhutan — Nepal

(B) S Lanka - Maldives -
Bangladesh

(C} Myanmar — Thailand - Laos

(D) China - Vietnam — Myanmar

‘Coup de etal” represents :

{A) Peaceful change of government
by voling

(B} Voluntary resignation of the
Head of a State.

(C} Change of povernment by a
judicial decision.

(D) Sudden overthrowing of a
government by Military.

Which one of the following is not

considered as fundsmental objective of
National Security 7

{A) To preserve national sovereignty.

(B} To protect territorial integrity.

(C} To maintain International peace
and stability.

(D To maintain national political
stability

Who was the Chairman of Kargil
Review Committee 7

(A) K. Subrahmanyam

(B} Gen. V.P. Malik

(C)  LN. Dixit

(D M.K. Narayanan

CTBT aims at :

{A) Creating Nuclear Weapon Free
Zone

(B} Banning Nuclear Weapon Tests

(C) Banning creation of WNuclear
Weapon Free World

(D) Banning production and test of

Anti-personnel mines.
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{Mame )

11 1 AP

Time : 1Y, hours]

OMR Sheet No. @ ...

{To be fi
mada] | | | | | | | |
{In figures as per admission card)
Roll No.
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Mumbser of Pages in this Booklet - 16

MNumber of (Questions in this Booklet - 50

Instructions for the Candidates

1. 'Write your refl number in the space provided on the top of

this papge.

This paper consists of [fiy muliiple—chowe iyvpe of

guesiions.

X Atthe commencemeni of examination, the queston booklet
will be given o you. Im the first 5 minoies, you are requested
tis ovpen the booklet and compulzorily examine it os below :
il To have scoess o the Question Booklet, tear off the

paper szal on the edge of this cover page. Do not accept
a booklet withoul sticker-seal and do not accept an

=]

open hooklet
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missing or duplicate or not in serinl order or amy
ather discrepancy shonld be pot replaced immsediately
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hestion Hooklet will be replaced nor any extra
time will be piven
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4. Each item has four alternative responses marked (A) (B
(Cpand (V3. You have 1o darken the cincle 2 indicated helow
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%, Yoo have o retun the test question booklet and Original
MR Shect to the invigilators al the end of the examination
compalsorily and must nol carry it with you ootside the
Examination Hall. Yow are, however. allowed to camry
duplicaie copy of OMR Sheet on conclusion of examination.

10 Use anly BlueBlack Ball point pen.

11 Use of any caloulator or leg table et is prohibited.
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